A/UX: How to Partition for Two 45MB Cartridges

This article last reviewed: 1 June 1990

In our office, we use 45MB renovabl e cartridges as standards for hard disk
storage. Some of us now want to use A/UX. Is it feasible to put A/UX on two
separate 45MB cartridges and run it as is? |If yes, what partitioning would you
reconmend?

DI SCUSSI ON = - - = = = = = = = = x o m ot e f el

If you have two 45MB cartridge drives on a Macintosh running A/UX, it may be
possi ble to separate the standard A/ UX Root &Usr partition into Root and Usr
partitions on two different drives. Here is the list of disk partitions and
their sizes fromthe standard A/UX 2. 0b for an 80MB drive

Approx. size Partition

16K Maci nt osh Dri ver

16K Free

54567K A/ UX Root &Usr (slice 0)
18432K A UX Swap (slice 1)
3072K A/ UX Aut or ecovery
2048K MacPartition

1K Free A/UX (slice 3)

1K Free

For this particular situation, we woul d suggest that you put the "Macintosh
Driver", the "A/UX Root"(/), the "A/UX Swap", and the "MacPartition” partitions
on one drive, and put the "Usr"(/usr) partition on another drive. You may
renove the "A/UX Autorecovery" partition if you have a way to recover from any
di sk disaster.

The total size of the "Macintosh Driver" (16K), the "A/UX Swap" (18432K), and
the "MacPartition" (2048K) partitions is 20496K.  Therefore, you can create the
"Root" (/) file systemw th the size of about 45MB - 20496K. Note that the
current di sk space occupied by the "Root" file system (excluding /usr) is about
20MB. Therefore, you have about 5MB of space for growing in the "root" drive.
The entire disk size (in blocks) can be found fromthe report of "dp

/dev/rdsk/ cXd0s31" (X is the SCSI ID of the drive).



Use the "dp" conmand to create the above partition nanes and sizes in one
drive. Wthin "dp", wite down the size (in block) of the "Root" (/) file
system for later "newfs" use.

On the other drive, you can allocate the entire 45MB for the "Usr" (/usr)
partition. Use the same "dp" to create the "Usr" (/usr) partition, and wite
down its size. Note that the current di sk space occupied by the "Usr" (/usr)

is about 18MB. Therefore, you have about 25MB (nmaybe | ess due to 5 percent
"l ow wat er - mar k" required on BSD UFS) space to grow.

To bal ance the di sk space between the two drives, you can "synbolically" |ink
sone files or directories fromthe "Root" drive to the "Usr" drive

To make a "Root" (/) Berkeley file system (UFS) do:

# newfs -s nunber-of - bl ocks-for-root /dev/dsk/cXdOsO
"X" is the SCSI ID of the 45MB "Root" drive.
To make a "Usr" (/usr) Berkeley file system (UFS) do:

# pname -cY -s2 "Usr"
==> /dev/ dsk/cYd0s2

"Y' is the SCSI ID of the 45MB "Usr" drive, and assune "Usr" is the partition
name created in the drive

# newfs -s nunber-of -bl ocks-for-usr /dev/dsk/cYdOs2

After you have these file systens created, you can nmount the above two file
systens. Here is an exanple:

# mount /dev/dsk/ cXd0dO /45r oot
# nount /dev/dsk/cYdOs2 /45usr

After mounting the file systens, you can use either "cpio" or "tar" to copy the
following files and directories (exclude /usr) onto the 45MB "Root" drive:

/.la-z]*
/[[a-t]*
[[v-2]*
[[A-Z]*

and copy the following /usr directory onto the 45MB "Usr" drive:
[ usr
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